Multiplique por poténcias de dez (nimero ausente)

Nome: Encontro: Data: Pontuagdo:
5,175 x = 5175 9,304 x = 9304
9,893 x = 9893 8, 852 x = 8852
2,557 x = 2557 4,777 =477.7
10, 757 x = 1075.7 6, 63 X = 663
7,653 X = 7653 2,472 x =24.72
10, 866 x = 10866 7,416 X =74.16
7,293 % =729.3 6, 744 x =674.4
1,598 x =15.98 8, 744 x =874.4
8, 847 x = 884.7 7,569 % =75.69
8,57 x = 8570 3,422 x =342.2
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E ! 0 ﬂzﬁ ‘ ? Multiplique por poténcias de dez (numero ausente)

Nome: Encontro: Data: Pontuagdo:
5, 175 x 1000 = 5175 9,304 x 1000 = 9304
9, 893 x 1000 = 9893 8, 852 x 1000 = 8852
2,557 x 1000 = 2557 4,777 x 100 = 477.7
10,757 x 100 = 1075.7 6,63 x 100 = 663
7,653 x 1000 = 7653 2,472 x 10 =24.72
10, 866 x 1000 = 10866 7,416 x 10 = 74.16
7,293 x 100 = 729.3 6, 744 x 100 = 674.4
1,598 x 10 = 15.98 8,744 x 100 = 874.4
8, 847 x 100 = 884.7 7,569 x 10 =75.69
8,57 x 1000 = 8570 3,422 x 100 = 342.2
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